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IMPORTANT NOTES

Hewaqut

(A)  Please fill up the OMR Sheet of this Question-Answer Booklet properly before answering.
TYIY TRt H IR &6 i § Y4 SHeh Hol T 37.0H, 3. TAE Fl Holl TR § WA |

(B) The question paper is divided into different unit and parts. The number of questions to be attempted and their
marks are indicated in each unit and parts.
we-77 fafe=r gfe ud vt | fanfor & | e gfe ud wm § | TR0 S At weEl @ e 8T 3 99 39
gfe mE AT H Sifed fed o E |

(C) Attempt answers either in Hindi or English, not in both. For Language Papers, answer in concerned language
and script, unless directed otherwise to write in Hindi or English specifically.
ST 3w A fewt o F | fRE s 7 i, S A A6l | AT e weAl % S Sl Sag Wi F o | @
feu ST, e e o oo oy & forw arem & Tt o afustt § Sew 39 % forw = forar mam &t |

(D)  The candidates should not write the answers bevond the prescribed limit of words: failing this. marks will be deducted.
STITEET T 3109 AT Ui Yes) ! 9iaT ¥ 2114 Fef fof@T F1ieu | S9! Sooite i 9T 3 IS ST |

(E)  Please write answers only in the prescribed space of booklet. Do not write any mark of identity inside the Answer
Script (including Paper for rough work) i.e. name, address. telephone number, Name of God etc. or any irrelevant
words other than the answer of question. Such act will be treated as unfair means. The Commission may also
deduct 5 marks from the marks obtained, if Roll Number is not filled correctly on the O.M.R. Sheet.
fepeft ot et BT S e gReeR o i T W T | IR O (T S o U Hied) o 31aT Rl W 3T AW,
3t FAT AT 3 I T T 4T - YA 0 A, T, SO e, SAIa o AW $ET 3 g IR § St
VI, A1 U 37 S 7 foid | U S 0T ST B T S W ST S e W S | SRR, T W3
TR o e 3 A TR ST BRI S M # § 5 37 I e I ek ¢ |

(F)  Candidates are directed that they should not write (answer) out side the border line in every page. Answer written
out side the border line will not be checked by the Examiner.
snafirt o FRfe fomar s & foF A e # ueds I § SR TS aIeY o § afe? Wogad el o | aeY
A o aeY ford T8 ST S RIeTh g S Al S |

(G) If there is any sort of ambiguity/mistake either of printing or factual nature then out of Hindi and English version
of the question, the English version will be treated as standard.
afs ot wer F fopdll WeBR 1 BIE HEOT AT FRATHS UHR F IS 2 O R o feral q4T S WORR A A Ut
FT 7= 20 |

(H) The Question-Answer Booklet is provided in a sealed envelope to the candidate. Candidate must sign the
declaration as per directions printed on the envelope and return it to the invigilator.

- argel Bt G QT HieEs Hh B S B TS | e foreh Ut sifed fRw i Ugeht Siun W Ee

F T T IH AR & AT H S |

(I)  Candidate should fill up all desired details on this attached OMR sheet of Question-Answer Booklet with blue
ball point pen. Please ensure that this OMR Sheet is not torn or damaged.
el WY JRkTeRT % ST Here 39 31.0H.3TR. T T Gl aifod [FEeor et der 99§ WEuHiges 98 | e
@ o 9¢ .07, 3T, T FEl A he-He el 2ra fondt off Wb | eaferre el af |

(1) This OMR Sheet consists of Two parts, in which some information is pre-printed; remaining details have to be
filled by the candidate.
T 3N UM, T 21 aT F dey &, forad hiqua ge Ui € | 9 @l gid el & Sl § |

(K) If the Question-Answer Booklet is torn or not printed properly, bring it to notice of invigilator and change the
Question-Answer booklet. otherwise the candidate will be liable for that.
afe gAY gREeRr Sl W welwel a1 IHfee €, o USRI & e § o § 747 S9 agofdl o, ST 39 e
37T T 0 |

famiw At

sl ERT A SNUH.AR, T W e GO O Sl € A1 9 (6l W @ aff Tees Sl € 37 39 W R v
e Tee 3o o ST €, & SR ERT WOl U B Snater R o S W ST Sue fo anapelt Seeart e |
Special Notes :

If there is any wrong information filled by the candidate or any attempt is made to damage it or any marking as identification
is done, then his candidature for the entire examination shall be rejected by the commission, for which he will be liable.
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Paper — 1 GENERAL STUDIES & GENERAL KNOWLEDGE

(Total 200 Marks)
(Total 48 Question)

Unit — 1 (75 Marks)
@Fe-1) (75 i)
Part—- A Marks :10
YT — A 3F :10
Note : Attempt all questions. Answer the following questions in 15 words each. Each question
carries 2 marks.
e auft ol o 3T 2 | T Tuel 1 3T 15-159T5 T | U WU 2 36 B |

1. Define the Tyaga Custom of Rajasthan.

TSTEAT 1 M-S S T SHife |

2. Write down any two attributes of “Dancing Girl” statuette of Indus Valley Civilization.

faeg =Tt Terar S deht ufaar = 1g & fesmand fafey |
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3. Who was Makkhaliputra Gosal ?
ARG T TR i o7 ?

4. What was Mewar Pukar ?

“TeTe YR T T ?

5, Who was the editor of Mirat-ul-Akhbar ?

ot 3rEeam & HuTesh i U ?
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Part— B Marks :25
T — o & 125

Note : Answer all the following questions in 50 words each. Each question carries 5 marks.

e gl uvE 1 3T 50-50 wedi ° ¢ | T v % 5 375 & |

0.

Write a short note on the historical plays of Sanskrit literature.

TEHa AT o Ufeatiies et 1 afera o fefe |

T8

Explain the fundamental difference between the Gandhara and Mathura Schools of Art.

TR TS HYA el ATCTAT o STIRYT T ! T HINT |
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8. Evaluate the contribution of Sawai Jai Singh in the field of art and literature.
el T TR 5 &1 1§ HaTS SAE % IS 1 JoATeh hig, |
9. How the problem of Hyderabad’s accession in Indian Union was solved ?

T T B 2eETe & foerd <l THE o1 THIEH HH 3T ?




Paper-1

INERTTMET A

With what objectives did Mahatma Gandhi launch the Non-Cooperation Movement ?

10.
Tenet el =1 wrent waTem mief) 3 SrEE STTEe e R 7
Part - C Marks :40
HAT -1 37 140
Note :  Attempt all questions. Answer the following questions in 100 words each. Each question
carries 10 marks.
Me: et el % IWE | FIE T %1 ST 100-100 I3 F ¥ | W WA % 10 3 Fruffa #

11.

Elaborate the causes of Political Awakening in Rajasthan during the early 20" century.

SRR 20%f IrdTed! o SR TS § THIfdeh SR % SHROT 1 e & gui HIf |
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12. Write a detailed note on the Mughal Painting.
qiret fesenen TR o o ferfim |




G

13.  Why was Bengal partitioned in 1905 ? Also highlight its consequences.

1905 3 ST ST M = R TR 2 9Heh TTCuTHT bl off {@ifehd ShifaT |




s L

4. Examine the factors responsible for the emergence of Renaissance Movement in Europe.

Y AR ST o IeHe o HROT o1 ey HT |
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(Unit-II) (65 Marks)
@e-11) (65 37F)
Part — A Marks :10
T — 37 3% :10
Note : Attempt all questions. Answer the following questions in 15 words each. Each question

carries 2 marks.

e : Toft T 3 3R ¥ | Fore el o S 15-15 ISG1 A ¢ | ek W o 2 37 Fifa B |

1.  Define non-performing assets.

- amifeqesT whEafET ) afefya i |

2. Explain the term food security in Indian context.

T 3 HeW e GRE i TSy |
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Paper-I 15
3. What is financial inclusion ?
IERIPEEIENE GO IR,

4. Describe Bhamashah transaction mapper.

THTSITE e AU <61 s <hifsrd |

5. Give four advantages of public-private partnership in Rajasthan.

I U gresii-es — st evriirdr & =R ol &1 gy |
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Part— B Marks :25
AT —F 3H 125

Note : Answer all the following questions in 50 words each. Each question carries S marks.

Az P d 3wl el ST 3T 50-50 WeaT H € | See Y o 5 37k R 2 |
6.  Write a brief note on the Chakravyuha challenge of Indian economy.
T 31eferare 3 foru =rsheyg Sl o Hiee fewuf fafay |
7. What do you mean by Startup India ?

“RTe3TI-3f0eaT” | 379 1 9 & ?
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8. What are the objectives of public distribution system in India ?

YRA T GTAST-eh fraor Suret! & v F1 8 ?

9. Differentiate between green field foreign direct investment and brown field foreign direct
investment.

i Fiee foceht e fafw=m 37t s free foesht yeer fafm & st Hife |
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10. Comment on Resurgent Rajasthan Partnership Summit 2015.

Tresie TorEdT™ FHTRTe @eter 2015 W feorofi i |

Part - C Marks :30
T -9 A& ;30

Note : Answer the following questions in 100 words each. Each question carries 10 marks.

e: By ywEi % I 100-100 I H S | Tk T3 %6 10 3 U@ 2 |

1. Discuss the important features of the recent FDI policy of the Government of India.

T TR 1 S wexed Teresht feaferem ife & o @t w1 farsron i |
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12.  Explain the Agreement of Agriculture (AOA) of WTO. How does it affect India’s

agricultural sector ? Do WTO provisions ensure the sustainable agricultural development
in India ?

WTO o i T THd I TS | 38 TR o HY &3 i fhd TehR gwilerd fopam @ 7 =
WTO 3 JTaeT Y § feehres iy fashma w1 gifesa st ¢
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13.  Discuss the steps taken by Govt. of Rajasthan for improving the skills of workers.

TSTEAT HEehR g1 AfHehT % <hivrel § G 2 5T 7T 3uTat o1 i Hife |
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(Unit-1IT) (Section — A) (20 Marks)
@fe-111) @ - A) (20 )
Part— A Marks :10
T — & 3 :10
Note : Attempt all questions. Answer the following questions in 15 words each. Each question

carries 2 marks.

e aeft uoei & 3T | T ueel T I 15-15 YIee] § ¢ | Tedeh YA o 2 37 fUiia 2 |

1. Identify any four social values enumerated in the Preamble of Constitution of India.

TTRA 3 ST ohl ST § Secifiad fehea! S FTHIfSTeh qeaii ol {@iiehd hitod |

2. Write the names of four Ashrams in chronological order.

SHUTTER =T 3172t o 7 fafad |
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3. When and why “Saagri Prohibition Act’ was passed in Rajasthan ?
TSred™ | grrel weut Ty sttty e ST i uTia fean e

4. What do you understand by Secularism ?
ertf — frreTelT B 3119 R e 2 7

5. Name four districts of Rajasthan where tribal population is concentrated.

TSI o 37 IR Fal o 11 Sd133 STal STl g SHEE hi<d 8 |
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Part— B Marks :10
T — o AF 10

Note : Answer the following questions in 50 words each. Each question carries 5 marks.

Me: T AT gl Ul o1 3T 50-50 wedl 1 ¢ | Yk T & 5 37 Meiia B |

6.

Differentiate between Caste and Class.

1fd 3T 1§ 37T i |

T

Explain the consequences of gender inequality in India.

TRd | ifTeh (SUST) ITEHA] < TRUE] &) Suemey |
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(Unit-III) (Section — B) (20 Marks)
@re-111) (A% — B) (20 )
Part—- A Marks :10
WRT — 37 3% :10
Note : Attempt all questions. Answer the following questions in 15 words each. Each question
carries 2 marks.
e : Al AT % ITXG | T AT 3T TR 15-15 I16G1 1 € | ST SR o 2 ek e € |
L. What do you mean by *Span of Control” ?
“Fremor o foea®’ 9 3TT9eRT 71 3T B 7
2. Why controlling function of management is the most significant ?

feeoT yeer STl T Wewequl = E 7




y IRMREI

3. Explain relationship between price and value.

ShTHA Td o % TEE-] ohi ST i |

4, Define Product Width.
IcATE TTSTS o1 TIHTNT i |

5. Define Induction.

STTTHA ! IRYTY iU |
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Note :

(il

Part-B Marks :10
- 3H ;10

Answer the following questions in 50 words each. Each question carries 5 marks.

qMe: FEadaaft gl o 3T 50-50 9ec ° € | Todeh U9 ok 5 3 Muiia @ |

6.

Briefly describe the major promotional mix tools.

T T (0T F1eHT 1 Ffered gl Hifsy |

¥

Differentiate between Net Income Theory and Net Operating Income Theory of Capital
Structure.

ISt TR STAUTOT | I[g 3T U I[g T 3119 o fagi=d | f=are s |
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(Unit-I1I) (Section — C) (20 Marks)
@fe-111) (@R - C) (20 3ie)
Part— A Marks :10
VT — 37 3 :10
Note : Attempt all questions. Answer the following questions in 15 words each. Each question

carries 2 marks.

qe oft Te F T | P T S S S-S Weel 1 2 | e U % 2 37 Taffa 2

1.  Explain meaning of operating cycle method.

gfeared = fafér s 312 wqrsd |

2. Write any two differences between Internal Check and Internal Audit.

Tt f1eToT U 3TTAfieh 37eheToT J SIS gf 3T feTiad |
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3. What does Balance-Sheet reveal ? Write any two points.

Teafe— foraor s wehe a1 8 7 18 < foreg 5T |

4. Give any two differences between Efficiency Audit and Performance Audit.

HqoTaT 3TeheTuT e fwaTeH 3ehervT | IS of 31w SaTsd |

5. Give any two differences between traditional budgeting and zero base budgeting.

TUERRTA S57eH Ud [ 3TYTRA §91eA § g &l 3T Jargd |
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Paper-I
Part— B Marks :
W - & :10
Note : Answer the following questions in 50 words each. Each question carries 5 marks.

Me: T d T o) aget o1 3T 50-50 real § ¢ | Tedeh U 9 5 37 (uiia 8 |

What do you mean by Social Accounting ? Give any three characteristics of Social

Accounting.

ATTSTeR SiEiehT o 37T 98T THerd & 7 AT oiaieh shl 1S ol farsiyard sarsd |

Mention five points that give significance of social audit.

s
ATk 3ThetuT 31 WETT ! TIT H a1t Widl fefwg sTelrs |
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SPACE FOR ROUGH WORK
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SPACE FOR ROUGH WORK
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